

,

n

:

$$n = p_1^{\Gamma_1} p_2^{\Gamma_2} \dots p_k^{\Gamma_k} \tag{1}$$

p_1, p_2, \dots, p_k n, Γ_i

$$p_i \quad p_i^{\Gamma_i} \quad n. \tag{1}$$

$n.$

,

((1601-1665)),

$$a^{p-1} \equiv 1 \pmod{p}, \tag{2}$$

p a $p.$

,

((1707-1783)).

$$p-1 \tag{2}$$

p $p.$ n

$\{ (n) , \dots \{ (n)$ n

$n. \quad n$ $\{ (n) < n-1.$

$\{ (1) = 1. \quad , \{$

,

$$a^{\{ (n)} \equiv 1 \pmod{n} \tag{3}$$

$a \quad n$

1.

$$\{ (mn) = \{ (m) \{ (n)$$

$n \quad m.$

$$1. \quad m_1, m_2, \dots, m_k, \quad \{ (m_1 m_2 \dots m_k) = \{ (m_1) \} \{ (m_2) \} \dots \{ (m_k) \} \quad (4)$$

$$2. \quad n = p_1^{\Gamma_1} p_2^{\Gamma_2} \dots p_k^{\Gamma_k} \quad (1), \quad \{ (n) = n(1 - \frac{1}{p_1})(1 - \frac{1}{p_2}) \dots (1 - \frac{1}{p_k}) \quad (5)$$

$$p, 2p, 3p, \dots, p^{\Gamma-1} \cdot p \quad p^{\Gamma}$$

$$p^{\Gamma-1} \cdot p^{\Gamma} - p^{\Gamma-1} \cdot p^{\Gamma-1} = p^{\Gamma} (1 - \frac{1}{p}) = n(1 - \frac{1}{p}). \quad \{ (n) = \{ (p^{\Gamma}) = p^{\Gamma} - p^{\Gamma-1} = p^{\Gamma} (1 - \frac{1}{p}) = n(1 - \frac{1}{p}).$$

$$\begin{aligned} \{ (n) &= \{ (p_1^{\Gamma_1} p_2^{\Gamma_2} \dots p_k^{\Gamma_k}) = \{ (p_1^{\Gamma_1}) \} \{ (p_2^{\Gamma_2}) \} \dots \{ (p_k^{\Gamma_k}) \} \\ &= (p_1^{\Gamma_1} - p_1^{\Gamma_1-1})(p_2^{\Gamma_2} - p_2^{\Gamma_2-1}) \dots (p_k^{\Gamma_k} - p_k^{\Gamma_k-1}) \\ &= p_1^{\Gamma_1} (1 - \frac{1}{p_1}) p_2^{\Gamma_2} (1 - \frac{1}{p_2}) \dots p_k^{\Gamma_k} (1 - \frac{1}{p_k}) \\ &= n(1 - \frac{1}{p_1}) p_2^{\Gamma_2} (1 - \frac{1}{p_2}) \dots (1 - \frac{1}{p_k}) \end{aligned} \quad (5)$$

$$1. \quad a^k \equiv 1 \pmod{n}, \quad a^m \equiv 1 \pmod{n}$$

$$3. \quad a^m \equiv 1 \pmod{n}, \quad a^k \equiv 1 \pmod{n} \quad m = qk \quad a^m \equiv 1 \pmod{n}, \quad a^{qk} \equiv 1^q \pmod{n} \quad a^k \equiv 1 \pmod{n}$$

$$\begin{aligned}
& , \quad a^m \equiv 1 \pmod{n} \quad m = qk + r, \quad r \\
& \quad m \quad k. \quad 0 \leq r \leq k-1. \quad a^{qk+r} \equiv 1 \pmod{n}, \\
& \quad a^{qk} a^r \equiv 1 \pmod{n}. \quad a^k \equiv 1 \pmod{n}, \quad \dots \\
& a^{qk} \equiv 1 \pmod{n}. \quad a^r \equiv 1 \pmod{n}. \quad r = 0, \\
& \quad m. \quad k. \quad , \quad k
\end{aligned}$$

1. n , $\frac{n}{\{(n)\}}$

$$n = p_1^{\Gamma_1} p_2^{\Gamma_2} \dots p_k^{\Gamma_k} \quad (1) \quad n. \quad (5)$$

$$\frac{n}{\{(n)\}} = \frac{p_1 p_2 \dots p_k}{(p_1-1)(p_2-1)\dots(p_k-1)}.$$

$$p_1 < p_2 < \dots < p_k.$$

$$\begin{aligned}
& k \geq 3, \quad p_2 \neq 2, \quad p_2 - 1 \\
& p_3, p_4, \dots, p_k, \quad p_3 - 1, p_4 - 1, \dots, p_k - 1 \\
& \quad \frac{n}{\{(n)\}} = \frac{2^{k-1}}{2^2}
\end{aligned}$$

$$\begin{aligned}
& k \geq 3. \quad 2, \\
& p_1 = 2. \quad , \quad n, \quad k = 1 \quad k = 2. \\
& \quad k = 1 \quad p_1 = 2, \quad -
\end{aligned}$$

$$\frac{p_1}{p_1-1} = 2, \quad \frac{p_1}{p_1-1}$$

$$\begin{aligned}
& n = 2^{\Gamma}, \quad r \\
& \quad k = 2, \\
& p_1 = 2. \quad p_2 = 3. \quad , \quad \dots
\end{aligned}$$

$$p_2 > 3. \quad p_2 = 2q + 1, \quad q > 1. \quad \frac{n}{w(n)}$$

$$\frac{n}{\{(n)\}} = \frac{2 \cdot p_2}{1 \cdot 2 \cdot q} = \frac{p_2}{q}.$$

$$\frac{p_2}{q} \quad , \quad q = 1 \quad p_2$$

$$3 \quad q < 1. \quad p_2 = 3$$

$$. \quad p_2 = 3.$$

$$n = 2^r 3^s, \quad r, s \geq 0.$$

$$n.$$

2. (). $n,$

$$\frac{2^n - 1}{n}$$

$$n = 1 \quad n \geq 2.$$

$$2^{2^n - 1} \quad 2,$$

$$\frac{2^n - 1}{n}, \quad p$$

$$2^n - 1, \quad k \quad 2 \quad p. \quad 3$$

$$k \quad n, \quad 2^{p-1} \equiv 1 \pmod{p}$$

$$3, \quad k \quad p-1.$$

$$k \quad n \quad p-1,$$

2. $a, b \quad n, \quad a \quad n, \quad b$

$$n, \quad k \quad a^k \equiv b^k \pmod{n}$$

$$a \quad b \quad n.$$

$$a^{\{(n)} \equiv 1 \pmod{n}$$

$$b^{\{(n)} \equiv 1 \pmod{n}, \quad a^{\{(n)} - b^{\{(n)} \equiv 0 \pmod{n}.$$

$$n.$$

4. $a, b \quad n, \quad a \quad n \quad b$

$$n, \quad k \quad a \quad b \quad n,$$

$$a^m \equiv b^m \pmod{n} \quad m \quad k \quad m.$$

$$3.$$

3. $n \quad \frac{3^n - 2^n}{n}$

$$n = 1$$

$$2. \quad p$$

$n \cdot \frac{3^n - 2^n}{n} \equiv 1 \pmod{p}$, $p \nmid 3^n - 2^n$,
 $p \neq 2$, $p \neq 3$, $k \leq p-1$, $2 \leq k \leq p-1$, $p \nmid k$, $3^{p-1} \equiv 1 \pmod{p}$,
 $2^{p-1} \equiv 1 \pmod{p}$, $k \leq p-1$, $k \leq p-1$, $n \leq p-1$, $p \nmid k$,
 $k=1$, $3^1 \equiv 2^1 \pmod{p}$, $n=1$.

4. $m \nmid n$, $\frac{(m+1)^n - m^n}{n}$

$n=1$, $n \geq 2$, $p \nmid n$,
 $(m+1)^n - m^n$, $\frac{(m+1)^n - m^n}{n}$, $p \neq 2$, $m+1 \equiv m \pmod{p}$,
 $p \nmid k$, $m+1 \equiv m \pmod{p}$, $4 \mid (m+1)^{p-1} \equiv 1 \pmod{p}$,
 $m^{p-1} \equiv 1 \pmod{p}$, $(m+1)^{p-1} \equiv m^{p-1} \pmod{p}$,
 $4 \mid k$, $p-1 \leq k \leq p-1$, $3 \mid k$,
 $n \leq p-1$, $k \leq p-1$, $p \nmid k$,
 $k=1$, $m+1 \equiv m \pmod{p}$,
 $p \nmid k$, $n=1$.

$m, l \nmid n$, $\frac{(m+l)^n - m^n}{n}$, $\frac{(m+l)^n - m^n}{n}$,
 $n=1$, $m \nmid l$, $n \neq 1$, $n \neq 1$.

5. $m, n \neq 1$, l

$\frac{(m+l)^n - m^n}{n}$, $n \leq l$,
 $p \nmid l$, $\frac{(m+l)^n - m^n}{n}$, $p \nmid m$,
 m , p

$$(m+l)^n = m^n + n \cdot m^{n-1} \cdot l + \frac{n(n-1)}{2} m^{n-2} l^2 + \dots + n \cdot m \cdot l^{n-1} + l^n,$$

$$m+l \equiv m \pmod{l}, \dots, l \equiv 0 \pmod{l},$$

6. (1990)

$$n, \frac{2^n+1}{n^2}$$

1990

$$n=1$$

$$p \neq 2, \frac{2^n+1}{p^2}$$

$$p \geq 3, \frac{2^n+1}{n^2}, \frac{2^n+1}{n}$$

$$(2^n+1)(2^n-1) = 4^n - 1, \dots, \frac{(1+3)^n - 1}{n}$$

5

$$p=3, n=3^m \cdot l, m \geq 1, m=1, m \geq 2.$$

$$2^n + 1 = 2^{3^m \cdot l} + 1 = (2^{3^{m-1} \cdot l})^3 + 1^3 = (2^{3^{m-1} \cdot l} + 1)(2^{2 \cdot 3^{m-1} \cdot l} - 2^{3^{m-1} \cdot l} + 1)$$

$$= ((2^{3^{m-2} \cdot l})^3 + 1^3)(2^{2 \cdot 3^{m-1} \cdot l} - 2^{3^{m-1} \cdot l} + 1)$$

$$= (2^{3^{m-2} \cdot l} + 1)(2^{2 \cdot 3^{m-2} \cdot l} - 2^{3^{m-2} \cdot l} + 1)(2^{2 \cdot 3^{m-1} \cdot l} - 2^{3^{m-1} \cdot l} + 1)$$

$$2^n + 1 = (2^l + 1) \prod_{j=0}^{m-1} (2^{2 \cdot 3^j \cdot l} - 2^{3^j \cdot l} + 1) \tag{6}$$

$$2^{2 \cdot 3^j \cdot l} = 4^{3^j \cdot l} = (3+1)^{3^j \cdot l} = 3^{3^j \cdot l} + 3^j \cdot l \cdot 3^{3^j \cdot l - 1} + \dots + 3^j \cdot l \cdot 3 + 1 \equiv 1 \pmod{9}$$

$$j=1, 2, \dots, m-1, \quad j=1, 2, \dots, m-1$$

$$2^{3^j \cdot l} = (3-1)^{3^j \cdot l} = 3^{3^j \cdot l} - 3^j \cdot l \cdot 3^{3^j \cdot l - 1} + \dots + 3^j \cdot l \cdot 3 - 1 \equiv -1 \pmod{9}$$

$$l \quad . \quad 2^{2 \cdot 3^j \cdot l} - 2^{3^j \cdot l} + 1 \equiv 3 \pmod{9} .$$

$$, \quad j = 0 , \quad 2^{2l} - 2^l + 1 \equiv 3 \pmod{9} .$$

$$3 \quad \prod_{j=0}^{m-1} (2^{2 \cdot 3^j \cdot l} - 2^{3^j \cdot l} + 1) \quad m . \quad ,$$

$$(3^m l)^2 \quad 2^n + 1 , \quad 3^m \quad 2^l + 1 . \quad m \geq 2 ,$$

$$4^l \equiv 1 \pmod{9} . \quad 4 \quad 9 \quad 3 , \quad 3$$

$$3 \quad l . \quad .$$

$$m = 1 .$$

$$n = 3l \quad 3 \quad l . \quad q \quad l ,$$

$$\frac{2^n + 1}{n^2} \quad 2^n + 1 , \quad 4^n - 1 .$$

$$s \quad 4 \quad q , \quad \dots \quad 4^s \equiv 1 \pmod{q} , \quad 3$$

$$s \quad n . \quad ,$$

$$4^{q-1} \equiv 1 \pmod{q} \quad 3 \quad s \quad q-1 ,$$

$$s \leq q-1 . \quad q \quad s \quad 3 . \quad s$$

$$s = 1 \quad s = 3 .$$

$$s = 3 , \quad 4^3 \equiv 1 \pmod{q} . \quad 64 ,$$

$$. \quad 64$$

$$3 , \quad q = 7 \quad 64 \equiv 1 \pmod{7} .$$

$$7 \quad 2^{2li} + 1 .$$

$$i , \quad 2^{2li} + 1 \equiv 2 \pmod{7} . \quad s = 1 .$$

$$4^l \equiv 1 \pmod{q} \quad q = 3 . \quad l$$

$$3 . \quad l = 1 .$$

$$n = 1 \quad n = 3 .$$